
National 5  

Home Ex 8  
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4. 

 

(b) Given that the area of the rectangle is equal to the area of the triangle, show that 

x2 − 2x − 8 = 0. 

(c) Hence find, algebraically, the length and breadth of the rectangle.  

 

 

5. Sketch y = 4sin2x0 , 0 ≤ x ≤ 360 
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7.   

 

 

8.  The paper cones shown are similar in shape.  The small cone is 8 cm high and uses 

180 cm2 of paper.  What will be the height of the larger cone if it is made from 290 

cm2 of card?  Give your answer to 2 decimal places 

 

 

 

 

9.  For what values of q does the equation x2 + qx = 3q have equal roots? 

 

 

 

 


